20160 60 30
opoooo
kotaro@math.titech.ac.jp

00000 E (MTH.B501) 0000 8

ggoo

e J0000000ODODOODOOOODDNDNDNONONONONONOODNOOOOODNDDNDNDN0NDNONNN z000
000000 5xmin{z,20} 00000
e 00000000000 OODNONONDNONONDNOOD 60240000060 1700000

goooooo

e JOUOOOODOODOOOOODOOOODOODODODOODOOODOOOOOLODODOOOODODODOOOODO
pgooooobooobooooboboobooboooboobooobobobooboobobobbobboobOobboobooboo
oo

Consider the following parametrization of the pseudosphere:

. _( cos(u—v) sin(u—v)
flu,v) = (cosh(u +v)’ cosh(u + v)

, (u+v) — tanh(u + v)> .

— Verify that (u,v) is the asymptotic Chebyshev net.
— Show that f is the Bicklund transformation of the straigntline

flu,v) = (0,0,u+ v)
accompanied with unit normal
v(u,v) = (—sin(u — v), cos(u — v), 0).
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